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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2021 

 

Subject Name: Basic Statistics 
 

Subject Code: 4AH05BAS1    Branch: B.A. (Economics) 

    

Semester: 5         Date: 20/12/2021  Time: 11:00 To 02:00   Marks: 70 

  

Instructions: 

(1) Use of Programmable calculator and any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1 Attempt the following questions: (14) 

a) Write methods of collecting primary data. (01) 

 પ્રાથમભક ભાહશતી એકમિત કયલાની યીતો જણાલો.  

b) Which are the Qualitative data and Quantitative data: 

Monthly income of Employee, Color, Human age, Gender 

(02) 

 નીચેના ઩ૈકી ગણુાત્ભક ભાહશતી અન ેવખં્માત્ભક ભાહશતી કઈ છે? 

કાભદાયોની ભામવક આલક, ભનષુ્મની ઉંભય, જામત, યંગ 

 

c) Find geometric mean of 9 and 16. (02) 

 9 અને 16 નો ગણુોત્તય ભધ્મક ળોધો.  

d) Find a median of the given information: 80, 90, 92, 68, 72, 63, 55 

 

(02) 

 આ઩ેર ભાહશતીનો ભધ્મસ્થ ભે઱લો: 80, 90, 92, 68, 72, 63, 55  

e) True/False: Mode = 2(Mean) – 3(Median) (01) 

 વાચુ/ંખોટંુ: ફહરુક = 2(ભધ્મક) – 3(ભધ્મસ્થ)  

f) True / False: The probability of any event A of the sample space U is the value range 

of P (A) from 0 to 1. 

(01) 

 
વાચુ/ંખોટંુ: મનદળશ અલકાળ U ની કોઈ઩ણ ઘટના A ની વબંાલના P(A) ની હકિંભતનો મલસ્તાય ઝીયો 

થી એક સધુીનો છે. 

 

g) Impossible event is denoted by _______. (01) 

 અળક્ય ઘટના ______ દ્વાયા સચૂલલાભા ંઆલ ેછે. 

 

 

h) Define: Sample space, Complementary Event (02) 

 વ્માખ્મા રખો: ૧) મનદળશ અલકાળ   ૨) ઩યૂક ઘટના   

i) If two balanced coins are tossed, then find the probability of getting at least one head. (02) 
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 જો ફ ેવતંલુરત મવક્કા પેંકલાભા ંઆલ,ે તો ઓછાભા ંઓછ ંએક છા઩ ભે઱લલાની વબંાલના ળોધો.  

Attempt any four questions from Q-2 to Q-8 

Q-2 Attempt all questions. (14) 

a) There are 2 officers, 3 clerks and 2 peons among the 7 employees working in the cash 

department of a bank. A committee is formed by randomly selecting two employees 

from the employees of this department. Find the probability that there are 

1) two clerks 2) one officer and one clerk among the two employees selected in 

committee. 

(05) 

 ફેંકના કેળ મલબાગભા ંકાભ કયતા 7 કભશચાયીઓભા ં2 અમધકાયી, 3 કાયકુન અને 2 ઩ટાલા઱ા છે. આ 

મલબાગના કભશચાયીઓભાથંી યેન્ડભરી ફ ે કભશચાયીઓની ઩વદંગી કયીને એક વમભમતની યચના 
કયલાભા ંઆલે છે. વમભમતભા ં઩વદં કયામેરા ફ ેકભશચાયીઓભાથંી 
1) ફ ેકાયકુન 2) એક અમધકાયી અન ેએક કાયકુન શોલાની વબંાલના ળોધો. 

 

b) From a deck of 52 cards, a card is randomly selected. Find the probability that the 

selected card  

1) is a club or a queen.  

2) neither a club nor a queen  

(05) 

 52 ઩ત્તા ના ઢગભાથંી એક ઩ત્ત ુમાદચ્છછક યીતે ઩વદં કયલાભા ંઆલે છે ઩વદં કયેલુ ંશતુ ં઩ત્ત ુ 

1) પલ્રી કે યાણી શોમ 

2) પલ્રી ન શોમ અને યાણી ઩ણ ન શોમ તેની વબંાલના ળોધો. 

 

c) Find the probability of  if  for two events A 

and B of the sample space of a random experiment. 

(04) 

 એક માદચ્છછક પ્રમોગના મનદળશ અલકાળની ૨ ઘટનાઓ A અન ે B ભાટે 

  શોમ તો  ની વબંાલના ળોધો. 

 

   

Q-3 Attempt all questions (14) 

a) During last 5 years production in a factory as per following. Draw bar diagram of it.  

Year 2011 2012 2013 2014 2015 

Production (In Lakh Rs.) 120 150 130 140 160 
 

(05) 

 કોઈ એક કાયખાનાભા ં઩ાચં લ઴શ દયમભમાન થમેર ઉત્઩ાદન (રાખ રૂમ઩માભા)ં નીચ ેમજુફ છે તો 
તેન ેમોગ્મ સ્તબં આકૃમતભા ંયજૂ કયો. 

વર્ષ 2011 2012 2013 2014 2015 

ઉત્પાદન (લાખ રૂપપયામાાં) 120 150 130 140 160 
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b) Write a short note on Direct Inquiry method for collection of data. (05) 

 ભાહશતી એકિીકયણની પ્રત્મક્ષ ત઩ાવ ઩ય ટંુકનોંધ રખો.  

c) If the following information is found about the age of individuals living in two 

different areas, represent it by the appropriate diagram. 

Age 

(In year) 

Less than 15 

(Child) 

15 to 35 

(Young) 

35 to 60 

(Adult) 

More than 60 

(Old) 
Total 

Area A 480 360 240 120 1200 

Area B 350 250 200 200 1000 
 

(04) 

 

કોઈ ફે અરગ અરગ મલસ્તાયભા ંયશતેી વ્મક્તતઓની ઉંભય મલળે નીચે પ્રભાણેની ભાહશતી ભ઱ે 
છે,તો તેને મોગ્મ આકૃમત દ્વાયા યજૂ કયો. 

ઉંભય 
(લ઴શભા)ં 

15 થી ઓછી 
(ફા઱ક) 

15 થી 35 
(યલુાન) 

35 થી 60 
(લમસ્ક) 

60 થી લધ ુ
(વદૃ્ધ) 

કુર 

મલસ્તાય A 480 360 240 120 1200 

મલસ્તાય B 350 250 200 200 1000 
 

 

   

Q-4 Attempt all questions (14) 

a) The data of selling (in Rs.) product in super mall during four weeks are given as 

follows. Prepare frequency distribution table in 8 different class distribution with the 

mean value of each class. 

228 125 100 90 115 125 230 

220 200 230 130 128 135 80 

120 127 95 85 100 180 160 

185 145 140 150 200 265 210 
 

(07) 

 એક સ઩ુય ભોર ભા ં૪ અઠલાહડમા દયમભમાન થમેર લેચાણના આંકડા (શજાય રૂમ઩માભા)ં નીચ ે
મજુફ છે. આ ભાહશતીને આઠ લગોભા ંમલબાજજત કયતા આવમૃત્ત મલતયણની યચના ભધ્મ હકિંભત 
વાથ ેકયો. 

228 125 100 90 115 125 230 

220 200 230 130 128 135 80 

120 127 95 85 100 180 160 

185 145 140 150 200 265 210 
 

 

b) The number of children per family in an area is shown in the table below. Find the 

mean number of children per family. 

Number of children 0 1 2 3 4 5 

Number of family 4 8 23 8 6 3 

 

 

(04) 



Page 4 of 6 

 

 

એક મલસ્તાયભા ંકુટંુફદીઠ ફા઱કોની વખં્મા નીચેના કોષ્ટતભા ંદળાશલેર છે. કુટંુફદીઠ 
ફા઱કોની વખં્માનો ભધ્મક ળોધો.  

ફા઱કોની વખં્મા 0 1 2 3 4 5 

કુટંુફોની વખં્મા 4 8 23 8 6 3 
 

 

c) If the growth of plants planted in a nursery (in cm) is as follows, find the median of 

plant growth. 

1.0, 3.2, 1.4, 1.9, 2.4, 1.6, 1.4, 2.1, 1.3, 1.5 

 

 

 

 

(03) 

 એક નવશયીભા ંલાલેરા છોડની વદૃ્ધદ્ધ (વેભીભા)ં નીચે પ્રભાણે છે, તો છોડની વદૃ્ધદ્ધનો ભધ્મક ળોધો. 
1.0, 3.2, 1.4, 1.9, 2.4, 1.6, 1.4, 2.1, 1.3, 1.5 
 

 

   

Q-5 Attempt all questions (14) 

a) The probability that a person from a group reads newspaper X is 0.55, the probability 

that he read newspaper Y is 0.69 and the probability that he reads both the newspaper 

X and Y is 0.27. Find the probability that person selected random from this group. 

 

1) reads at least one of the newspaper X and Y. 

2) does not read any of the newspaper X and Y. 

3) reads only one of the newspapers X and Y. 

 

(07) 

 જૂથભાથંી વ્મક્તત X અખફાય લાચંે છે તેની વબંાલના 0.55 છે , તે અખફાય ળા ભાટે લાચંે છે 
તેની વબંાલના 0.69 છે અને વબંાલના છે કે તે અખફાય X અને Y ફનંે લાચંે છે તેની 
વબંાલના 0.27 છે. વ્મક્તતએ આ જૂથભાથંી યેન્ડભ ઩વદં કયેરી વબંાલના ળોધો. 
 
1) ઓછાભા ંઓછ ંએક અખફાય X અને Y લાચંે છે. 
2) કોઈ઩ણ અખફાય X અને Y લાચંતા નથી. 
3) X અને Y અખફાયોભાથંી ભાિ એક જ લાચંે છે. 
 

 

b) For three mutually exclusive and exhaustive events A, B and C in the sample space of 

a random experiment      2 3 4 . P A P B P C  Find  P A B  and  P B C  

 

 

 

. 

(07) 

 એક માદચ્છછક પ્રમોગ મનદળશ અલકાળની ઩યસ્઩ય નીલાયક અને મનિઃળે઴ ઘટનાઓ A, B અને C 
ભાટે      2 3 4P A P B P C   શોમ, તો  P A B  અને  P B C  ળોધો.  
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Q-6 Attempt all questions (14) 

a) The number of mobiles produced by a mobile manufacturing company in the last 60 

days is as follows. Divide it into 10 classes and make distribution table 

699 380 625 653 452 763 385 959 485 970 

749 595 1029 500 499 453 525 621 465 565 

188 785 276 1060 760 355 645 775 825 235 

390 399 530 540 695 999 849 550 720 430 

752 389 1075 701 875 552 351 265 199 370 

1025 825 783 225 603 553 503 663 385 465 

From this also prepare frequency distributions of 'less than' and 'more than'. 

(07) 

 ભોફાઇર ફનાલતી એક કં઩નીએ છેલ્રા ૬૦ હદલવભા ંઉત્઩ાહદત કયેર ભોફાઇરની વખં્મા નીચે 
પ્રભાણે છે. તેને ૧૦ લગોભા ંમલતહયત કયો. 

699 380 625 653 452 763 385 959 485 970 

749 595 1029 500 499 453 525 621 465 565 

188 785 276 1060 760 355 645 775 825 235 

390 399 530 540 695 999 849 550 720 430 

752 389 1075 701 875 552 351 265 199 370 

1025 825 783 225 603 553 503 663 385 465 

આ આવમૃત મલતયણ ઩યથી ‘થી ઓછા’ તેભ જ ‘થી લધ’ુ પ્રકાયનુ ંઆવમૃત મલતયણ ફનાલો. 
 

 

b) Write a short note on secondary information by published sources. (05) 

 પ્રકામળત પ્રાચ્તતસ્થાનો દ્વાયા ગૌણ ભાહશતી ઩ય ટૂંકનોંધ રખો.  

c) Define: Class length, Mid value (02) 

 વ્માખ્મા રખો: લગશરફંાઈ, ભધ્મહકભત   

   

Q-7 Attempt all questions. (14) 

a) The following table provides information on the monthly cost of petrol for 75 

families. Find a median of petrol costs in these families. 

Cost of Petrol  
less than 

200 

less than 

400 

less than 

600 

less than 

800 

less than 

1000 

less than 

1200 

Number of 

family 
4 8 23 8 6 3 

 

(07) 

 75 કુટંુફોના ઩ેટ્રોરના ભામવક ખચશની ભાહશતી નીચેના કોષ્ટતભા ંઆ઩ેર છે. આ કુટંુફોભા ં
઩ેટ્રોરના ખચશનો ભધ્મસ્થ ળોધો. 

઩ેટ્રોરનો ખચશ 200 સધુી 400 સધુી 600 સધુી 800 સધુી 
1000 

સધુી 
1200 

સધુી 
કુટંુફોની વખં્મા 4 8 23 8 6 3  
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b) Find Q1, D7, P40 for information on the runs scored by a batsman in his 20 innings. 

32, 28, 47, 63, 71, 9, 60, 10, 96, 14, 31, 148, 53, 67, 29, 10, 62, 40, 80, 54 

 

(07) 

 એક ફેટ્વભેને તેની 20 ઇમનિંગભા ંસ્કોય કયેરા યન દળાશલતી ભાહશતી ભાટે Q1, D7, P40 ળોધો. 
32, 28, 47, 63, 71, 9, 60, 10, 96, 14, 31, 148, 53, 67, 29, 10, 62, 40, 80, 54 

 

   

Q-8 Attempt all questions. (14) 

a) The following is the version of the marks obtained in the 50 marks test by twenty 

children selected in a spelling test of English words taken at the district level. Find the 

average (mean) deviation of children's marks from this information. 

Marks 0-9 10-19 20-29 30-39 40-49 

Number of children 1 3 8 6 2 
 

(07) 

 જજલ્રા કક્ષાએ રેલાતી ઇંચ્ગ્રળ ળબ્દોની એક જોડણી કવોટીભા ં઩વદંગી ઩ાભેરા લીવ ફા઱કોએ 
50 ગણુની કવોટીભા ંભે઱લેર ગણુનુ ંઆવમૃત નીચે મજુફ છે. આ ભાહશતી ઩યથી ફા઱કોના 
ગણુનુ ંવયેયાળ મલચરન ળોધો. 
ગણુ 0-9 10-19 20-29 30-39 40-49 

ફા઱કોની વખં્મા 1 3 8 6 2 
 

 

b) The number of bottles of cold drink sold by a shopkeeper on different days is given in 

the table below. Find a mode for selling cold drink bottles. 

Number of Bottles 0-3 4-7 8-11 12-15 16-19 20-23 

Number of days 4 8 23 8 6 3 
 

(05) 

 

એક દુકાનદાયે જુદા જુદા હદલવે લેચેરી ઠંડા ઩ીણાનંી ફોટરોની વખં્મા નીચેના કોષ્ટતભા ંઆ઩ી 
છે. ઠંડા ઩ીણાનંી ફોટરોના લેચાણનો ફહરુક ળોધો. 

ફોટરોની વખં્મા 0-3 4-7 8-11 12-15 16-19 20-23 

હદલવોની વખં્મા 4 8 23 8 6 3  

 

c) Write the benefits of mode. (02) 

 ફહરુતના રાબ રખો.  

 

 

 


